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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. This question paper has 2 parts. Part A is compulsory for all examinees. Part B
is meant only for those who have not offered Computerised Accounts.

3. Part A and Part B are to be answered on separate Answer Books.
Attempt ‘ALL’ questions. Show your working notes clearly.

Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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PART - A (WU )

1.. What are accounting standards ? Who issues accounting standards in India ?
Enumerate the objectives of accounting standards. @)

OR

PTO.
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What do you understand by accounting concepts and conventions ? Explain
realisation concept and it’s exceptions. @)

AT WHE T T ? R A ORAT AEE R T HAT 2 7 ORAT ARl @ Sewl ol T
Y |

Jrexan
AETEHT FTURONSN 3R RIS | 3T T G & ? Tholehdul IR 3R 39 qare
&1 U Ffo |

2. Mr. X had prepared the following Trial Balance as on 31st March, 2013.

Particulars Dr. Amount Cr. Amount

4 4
Stock as on 1st April, 2012 5,00,000 -
Purchases 31,00,000 -
Purchases return - 45,000
Sales 41,50,000
Returns 55,000 -
Cash in hand 2,50,000 -
Cash at Bank 5,00,000 -
Trader’s Capital - 22,59,200
Rates and taxes 50,000 -
Drawings - 45,000 -
Salaries 95,000 -
Postage and telegram 1,05,000 -
Insurance 90,000 -
Salesman Commission 78,000 —
Printing and stationery 95,500 -
Advertisement 1,70,000 -
Furniture and Fittings 5,50,000 -
Motor Car 48,000 -
Discounts 50,000 75,000
General Expense 65,700 -
Carriage inward 10,000 -
Carriage outward 22,000 —
Wages 50,000 —
Sundry debtors/creditors 10,00,000 4,00,000
Total 69,29.200 69,29,200
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You are required to prepare Trading and Profit & Loss Account for the year
ended on 31st March, 2013 and Balance Sheet as on that date after making the
necessary adjustments.

You are provided with the following information :

(i) Closing stock as on 31st March, 2013 ¥ 1,45000.

(i) Mr. X had withdrawn goods worth ¥ 50,000 during the year.
(iii) Purchases include purchase of furniture worth % 1,00,000.
(iv) Debtors include ¥ 50,000 bad debts.

(v) Sales include goods worth ¥ 1,50,000 sent out to SS & Co. on approval
and remained unsold as on 31st March, 2013. The cost of the goods was

< 1,00,000.
(vi) Provision for bad debts is to be created at 5% of Sundry Debtors.
(vii) Depreciate Furniture and Fittings by 10% and Motor Car by 20%.
(viii) The salesman is entitled to commission of 10% on total sales. (12)

OR

Mr. Akhil started his business on 1st April, 2012 with a capital of ¥ 45,000. He
immediately purchased furniture for ¥ 24,000. During the year he received from
his uncle a gift of ¥ 3,000 and he borrowed from his father a sum of ¥ 5,000.
He had withdrawn ¥ 600 per month for his household expenses. He had no bank
account and all dealings were in cash. He did not maintain any books but the
following information is given :

3
Sales (including cash sales ¥ 30,000) 1,00,000
Purchases (including cash purchases ¥ 10,000) 75,000
Carriage inwards 700
Wages 300
Discount allowed to Debtors 800
Salaries 6,200
Bad debts written-off 1,500
Trade expenses 1,200
Advertisements 2,200

P.TO.
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He used goods worth % 1,300 for personal purposes and paid ¥ 500 to his son

for examination and college fees.

On 31st March, 2013 his debtors were worth T 21,000 and creditors X 15,000.
Stock-in-trade was valued at ¥ 10,000. Furniture to be depreciated by 10% p.a.

Prepare Trading and Profit and Loss Account for the year ended 31st December,

2013 and Balance Sheet as at 31st March, 2013. (12)
frex vam 3 31 W 2013 @ FreafoRaa Aw-qdeor semr 2

g Dr. X Cr. %
1 3, 2012 = Twfaan 5,00,000 -
W 31,00,000 -
w aEa - 45,000
faait 41,50,000
arataan 55,000 -
BEAE  Adat 2,50,000 -
dw A = 5,00,000 -
g & gl - 22,59,200
foroar v@ & 50,000 -
e 45,000 -
ELE 95,000 -
URW UE R 1,05,000 -
L 90,000 -
fargeal N wTE 78,000 —
BIE IR LRI 95,500 -
fesmaT 1,70,000 -
R 3R fhfewm 5,50,000 —~
AT FR 48,000 -
g 50,000 75,000
g =g 65,700 -
aRe gome 10,000 -
T TS 22,000 -
gl 50,000 _
fafger ¥@R 9 e 10,00,000 4,00,000
T 69,29,200 69,29,200
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I & ren 2 fR 31 W, 2013 A W g a6 @ forg 2R ik @t @ w1 @ qw
J4 Iy = srEawE AT S §Y ge- 19 96

st ol g & T 2

(i) 31, 2013 = s @ T 1,45,000 &0 2
(ii) a&%ﬁmﬁom%?so,ooowmﬁmén
(iii) ¥ wteR 9t @A T 1,00,000 afafera 2

(iv) ¥R & T 50,000 e o1 o Wt 2 1

(v) foat % % 1,50,000 3t wfdet 2 o foF wo 0@ U8 HRN R SRpe WA ST
A /A 31 A 2013 o TE 9 fae @ w1 R ) 5@ A 9 @ € 1,00,000
M

(vi) e el & forw fafay 29erRY W 5% &1 YEaT o 2 |
(vii) weR 3R fER™® W 10% T A TR W 20% & R A FeU8@ HET 2 |
(viii) Taraerat EeT R W 10% FAIF H THeR 2 |

terar

e A I =@EE T 45,000 W GO0 ¥ 1 30T 2012 R AR A 1 IAA A
% 24,000 T wRR  37am | 98 & SR 38 3 S ¥ 23,000 We @ee i ik
I 3 faar @ 25,000 IuR fw 1 IE s e w@d & e T 600 wfa ww smeRa
R | Sue A d% @ A8 O IR T TER TS A F W %) I R g
T @ g e e @ 2

PTO.
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3
s (we R 230,000 @A) 1,00,000
W (AHe wa T 10,000 |fEa) 75,000
FaRe gars 700
Torg 300
TR W q T BT 800
FJaT 6,200
e o forar TN 1,500

. MRS =g 1,200
fasma 2,200

I& ¥ 1,300 = A st SwEnt & e wgew e ik 2500 s g 9 wdew sk
Fiw W & fog feg

31 9, 2013 @i IqH IR T 21,000 3R AR T 15,000 & ¥ 1| =R § @A =
HedihT < 10,000 ot I | FeR W TRIEE 10% aif¥d &t o 3 o

31 9@, 2013 =t @ ¥ @ forw 2R sk ot 9 w1 @ R o & /Rty =
-0 T |

(a) Discuss the objectives of inventory measurement ?

@

(b) From the following data calculate the value of closing stock according to

FIFO using :
(1) Periodic Inventory System
(i) Perpetual Inventory System

Opening Stock  October 1

Purchases
October 5

October 15
October 25
October 30

400 Units @ T 7.50 each

600 Units @ X 8 each
500 Units @ ¥ 9 each
400 Units @ ¥ 8.50 each
300 Units @ T 9.50 each
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(@

(b)

Issues
October 3 300 Units

October 10 500 Units
October 17 400 Units
October 26 500 Units

October 31 200 Units ()
OR

Define depreciation. What are the contributory factors for decline in the
value of fixed Assets ? 4)

Metropol Ltd. acquired a machine for ¥ 5,40,000 on 1% April, 2010.
Depreciation was to be charged at 20% on Straight Line Method. During
2012-13 a modification was made to improve its technical reliability at a
cost of ¥ 50,000 which it was considered would extend the useful life of the
machine for two years. At the same time an important component of the
machine was replaced at a capital cost of ¥ 10,000 because of excessive

wear and tear. Routine maintenance during the said accounting period cost

< 7,500.

Show the Machine A/C, Provision for Depreciation on Machine A/C
and charges to Profit & Loss A/C for the year ending 31 March, 2013
only. 8)

(=) werE= aRamaT (Inventory Measurement) & I2¥a1 o1 JUIT FfT |

(@) =T s A FIFO wefy & smem w stk wfvan =1 s

(i) wraftr e =

(i) aaq A 9=

PTO.
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R i

&

(31) FIeEE Y gt e | e T @ e | N TR 9 SRE R 7

(@) e foro F 1 30&, 2010 = T 79 T 5,40,000 ¥ fernfeq ot | Aeaerd @edt
@ TR ® MR W 20% @ R ¥ fear @ a1 2012-13 & <R w9 St
A fagaiaar % guR 29 UE ¥R (Modification) 2F T 50,000 @ fFd @
Rred 79 o1 ITERt WeT 2 af 3k 9 A | T w9 w9 @ T wEeaqu
ot Seen @ et geira A 10,000 St it 7T he 6 Rem o |

HAFC 1

I 5

5

IR 15

o~

IR 25

o

FEFCH 30

FFTH 3
TR 10
FETwR 17
FFTR 26
SR 31

gdr

400 3@ @ % 7.50 Wi

600 sFE @ ¥ 8 Wi
500 s@E @ %9 9
400 T @ T 8.50 Wi
300 3@E @ % 9.50 9y

300 T
500 SIS
400 T
500 =TS
200 =TS

Acuer TE@EE W AE Fad # 7,500 =9 6y W

T @, T W eI WU @l SR A 9 w1 @ 31 96, 2013 @

T B 9 98 @ fog s\

at a profit of 20% on sale price. The branch sells goods for cash as well as on

credit. Branch expenses are met from branch cash and balance amount is remitted

N Ltd. Delhi opened a branch in Patna on 1-4-2012 to which goods are invoiced

to H.O. The branch accounts are maintained at H.O.
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Following further details are given for the year ended 31% March, 2013 :

4
Cost of goods sent to branch 1,60,000
Goods received by branch till 31-3-2013 at invoice price 1,60,000
Cash remitted by H.O. to branch for expenses during the year 10,000
Expenses incurred at branch ’ | 15,000
Cash remitted to H.O. 1,25,000
Cash received from branch debtors _ 1,05,000
Branch bad debts written off 7,000
Branch cash as on 31-3-2013 5,000
Branch debtors as on 31-3-2013 8,000
Branch stock on 31-3-2013 10,000

Show the necessary ledger accounts according to Stock and Debtors System in
the books of Head Office. (12)

OR

A Ltd., with its Head Office at Gurgaon, has an independent branch at Noida.
The Head Office at Noida close their books of account on 31* March. Pass
journal entries in the books of Head Office and Noida branch for the following

transactions :

(i) Noida branch purchased computers for ¥ 80,000. The fixed assets accounts

are maintained at H.O.
(i) Depreciation @ 15% is to be provided on computers.
(iii) Noida branch collected ¥ 1,00,000 from a customer of H.O.

(iv) H.O. paid ¥ 10,000 as freight for goods sent to the Noida branch.

PTO.




5732 10

(v) Goods worth ¥ 90,000 sent by H.O. on 28" March, 2013 to Noida branch
were received by the branch at 4™ April, 2013.

(vi) Noida branch sent goods worth ¥ 40,000 to Meerut branch on instructions
from H.O.

(vii) Noida branch collected rent amounting to ¥ 20,000 on behalf of H.O.

(viii) Noida branch remitted ¥ 45,000 on 29™ March, 2013 which was received
by H.O. on 3™ April, 2013.

(ix) The salary of Mr. Ashok, an employee of H.O. was % 60,000 per month.
Ashok worked for 10 days out of 30 days for Noida branch.

(x) Noida branch profit for the year ended 31 March, 2013 amounted to
¥ 35,000. (12)

1-4-2012 &1 o foro el 7 v & v o @ret o o e e W 20% e
R ZEE RaT S 8 | W W R AEel 3R JUR A W SOl 2 IR g Wl &
qEal A 991 AW T U FRGT g TS 9 Sl 8 | IR @) W Saed 8] @
W 2|

fFrafofaa s/ g9 31 W 2013 A & g a9 & fog @ wE F

4
W B NS I AT F AN 1,60,000
TEEE T W W F WS 4 1,60,000
7§ @ KA T T D RR TUW FRiE g0 MR e 10,000
TR BR 15,000
e wEeE w ME Awat 1,25,000
TR SRR | W qf , 1,05,000
TRAT BRI SENEA =W (Bad debts) 92 @ forn 7,000
31-3-2013 & IRA AHat 5,000
31-3-2013 &t WRA IER 8,000
31-3-2013 = W@l ®ih 10,000

Wi 3R 3¢d T3 & FER NaEF AR WA T Fierd o Tt F 7913 1
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T oo, foraent wener wmtera e & 2, 9 U T@a T IRar S A 7 | WL w9t
D 31 W 9 w2 | iRy @@er & o v eEiem qer [s awEr @
Teal A Aerrn vRfear A

(i) e TREr E) SR d W w4 T 80,000 | T TRl S @It Wee shaierd gRT

@ W R

(i) T R T92E @ 15% FG |
YT HEAE & Ueh IqNHIHT A Aret I = T 1,00,000 a6
T R R AGeT ARA A AT AT W WG TG /[ 10,000 0

(iii
(iv

)
)
)
(v)

28 W, 2013 Wt WU FteEd g NS I A T 90,000 WRAT N 4 30, 2013
T 9gT 2

(vi) v Frie & FEwERr Aae ARa R WS IR @t NS @ A 40,000 |
(vii) e ARET BRT W e & forg weiEa e % 20,000 1

(viii) 299, 2013 W T ARAT 5/ A, AR T 45,000 T FIF i g3 0,
2013 =Y U &t R

(ix) W wEeE D T FHAQ FWE B A9 < 60,000 W AE 21 FEwE 30 A
A 10 R e e & forg @ www 2

(x) 313, 2013 & forg s o & @ T 35,000 o 1

5. (a) Distinguish between Hire-purchase Sale and Credit Sale. 4)

(b) X is a Hire-purchase Trader and sells goods on hire purchase basis at cost
plus 50%. From the following information prepare Hire-purchase Trading
Account to determine profit or loss for the year ending 31* March, 2013.

2012 : 4
April 1 Stock with customers at hire-purchase price 90,000
Stock at shop at cost 1,80,000
Instalments due (Good) 50,000
Goods repossessed (worth ¥ 20,000) valued at 5,000
Cash received from customers 6,00,000

PTO.
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2013
March 31, Stock at shop at cost 2,00,000
(excluding goods repossessed)
Instalments due but not received 90,000
Stock with customers 3,00,000
8)
OR

From the following Receipts & Payments Account of a club and from the
information supplied, you are required to prepare Income and Expenditure Account
for the year ended 31 March, 2013 and a Balance Sheet as on that date.

Receipts & Payments Account
For the year ended 31% March, 2013

Receipts T | Payments 3

To Balance b/d 70,000 | By Tournament Expenses._ 11,000

To Subscription - By Fumniture 40,000

2011-12 6,000 | By Curtains 8,000

2012-13 1,40,000 | By Crockery 4,000

2013-14 8,000 | By Sports Material 12,000

To Donation for Building 80,000 | By Salaries 13,000

To General Donations 20,000 | By Honorarium 26,000

To Legacies 60,000 | By Charities ) 80,000

To Sale of Old Furniture 7,500 | By Advertisement 2,500

(Cost X 8,000)

To Endowment Receipts 1,00,000 | By Rent & Rates 14,000

To Sale of Newspaper 4,000 | By Advance against Construction 50,000
of Building

To Rent Received 15,000 | By Cost of Entertainment 14,500

To Advertisement Receipts 4,000 | By Payment to Creditors of Last Year| 4,000

To Proceeds of Concerts 12,000 | By Electricity Installation Expenses 30,000

To Tournament Fund 15,000 | By Library Books 8,000

To Sale of Sports Material 800 | By Newspaper 13,000

By Postage 7,000

By Bar Purchases 16,000

By 7% Investment (1-10-2012) 1,00,000

By Balance c/d 89,300

5,42,300 5,42,300
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Additional Information :

(i) Balances on 315 March, 2013 : ' 3
Sports Material 1,000
Bar Stock 1,200
Postage Stamps 200
Subscription Outstanding 7,000
Salaries Outstanding 500

(i) Salaries paid included T 800 for the last year ¥ 100 for the next year.

(ii)) Investments included investments out of Building donation ¥ 80,000. (12)
(@) TR - a3 SuR R ¥ swR AR |

(W) T Tk SR - AW A 2 3R 98 ERR WS SR W AN S 50% T AT
ran 2 1 Feafolas a9 & 3R W sRR - s SRT @ sad a@ife 31 A,
2013 H T §C a§ & forw @t A i Pl 8 '

2012 z
s 1 TR -TEW e R OIHIRHIA h 9 G 90,000
TEHM W AN W) @A 1,80,000
frsa 2@ (=R) 50,000
A W R (T T20,000) 5,000
. JUEIS ¥ W ARG 6,00,000
2013
™ 31 TEF W AN W @Rk 2,00,000
(TRt ww & 3fRer)
g fomm wg w= @ 90,000

IS B 9 oA 3,00,000

P.T.O.
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SrIdt

T ool @ eiieed Tl SR WM @R a0 Yo O @ SNUR WS SN 2
31 919, 2013 & T 9§ @ o @ ik o @ g 3@ fify | ges =@

wftqal 3R WEE @
319 2013 9 ¥d @8 @ fow

{ofeean 3 | W= 4
T A T I 70,000 | 91§ TAMC = 11,000
T e WME HAR 40,000
. 2011-12 6,000 | &% 9 8,000
2012-13 1,40,000 | g hichdt 4,000
2013-14 8,000 | =5 | @ 12,000
T Waw ¥ o 80,000 | =g aa 13,000
T AR e 20,000 | =g wFea 26,000
T aaa 60,000 | &I1g T 80,000
T WA WERR @ fasht 7,500 | =g famma 2,500
(@ T 8,000)
T Seaeq  wfaat 1,00,000 | =g foman 1 & 14,000
T FEER A faeh 4,000 | sz o & forg geare 50,000
T fomn wiftq 15,000 | 1% FFReA & AW 14,500
[RCEIC I 4,000 | =% it af & oFER B EEE | 4,000
T wia e Wit 12,000 | =1z faga e =@ 30,000
T THRe e 15,000 | ar5 AEadt & 8,000
T @A 9 A e 800 | 9% ISR 13,000
E W 7,000
[ IR HA 16,000
g 7% fafamr (1-10-2012) 1,00,000
qME IV A W@ I 89,300
5,42,300 5,42,300
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JfoRer o=
(i) 31¥, 2013 =t AW 4
QA FH T 1,000
R wih 1,200
e fewe ~200
THE HeT 7,000
FHAT AqT 500

(i) fsd af & forg T 800 T swt af & forw T 100 5 Ry wmam

(iii) fafrmr & s& g om X R/ fafair 2 80,000 wfFafe 2

PART - B (Wus o)

6. (a) Write a note on Garner Vs. Murray rule and its applicability in India. (5)

(b) A, B and C are partners sharing profits and losses in the ratio of 4:3:3. Their

Balance Sheet as on 315 March, 2013 was as follows :

Liabilities 4 Assets 4
Sundry Creditors 3,70,000 | Cashin Hand 30,000
A’s Capital 4,00,000 Sundry Debtors 3,40,000
B’s Capital 3,00,000 | Stock 3,90,000
C’s Capital 2,70,000 | Plant & Machinery 5,10,000
B’s Current A/C 40,000

C’s Current A/C 30,000

13,40,000 13,40,000

P.TO.
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The firm was dissolved on the above date. The assets were realised and the
amount was distributed among partners at the end of each month.

4
(i) April : Debtors 1,50,000
: Stock 2,00,000
: Expenses 5,000
(ii) June : Remaining Debtors 1,00,000
Balance of Stock 2,40,000
(iii) August : Machinery 1,80,000
Expenses 6,000

(iv) September : Part of Machinery valued in the books at ¥ 50,000 was
taken by A in part discharge of an agreed value of
71,00,000. Balance of Machinery was sold for
73,00,000.

Partners decided to keep a minimum cash balance of ¥ 20,000 in the first
three months and ¥ 10,000 thereafter. Show distribution of cash using
Maximum Loss Method. (15)

OR

X,Yand Z weré partners in a business. Their Balance Sheet as on 31* March,
2013 was as follows : '

Liabilities ¢ Assets 4
X’s Capital 1,60,000 Properties 4,00,000
Y’s Capital 1,00,000 Machinery 4,00,000
X’s Loan 2,00,000 | Fixtures 1,60,000
Payables (Creditors) 10,00,000 Stock 1,60,000
Book Debts 2,00,000

Cash 10,000

Z’s Capital 1,30,000

14,60,000 14,60,000
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Due to bad financial position of the partners, the firm was dissolved and all

partners were declared bankrupt. The assets were realised as follows :

Book Debts 45% less, Properties ¥ 1,60,000, Stock ¥ 1,00,000, Machinery
¥2,00,000, and Fixtures ¥ 40,000. Realisation expenses amounted to ¥ 10,000.

The private financial position of partners was as follows :

Private Assets Private Liabilities
4 3
X 2,50,000 2,50,000
1,80,000 2,00,000
Z | 2,50,000 2,30,000
Prepare necessary ledger accounts to close the books of the firm. (20)

(31) TR TA™ R e sk YR A 3@ AW B W e ot ol

(@) T, 3Rk § AEER T A 4:3:3 B FII A A 3R S wed 21 31 9, 2013
T IAHI GO 9T T wor

e 3 | onfeem z
fafae dFeR 3,70,000 | ERW weRd 30,000
T @ ge 4,00,000 | fafewr IwR 3,40,000
EUC I | 3,00,000 | wfaa 3,90,000
@ = g 2,70,000 | <iE T HMAX 5,10,000
q F A @ 40,000

@ W A @S 30,000

13,40,000 13,40,000

IRk [l = w1 & ware o1 @ | aeiaa) o Aendien fohar ik 98
S AERR & W 9AE e & Iid A faaRa o & W

PTO.
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Y IER
Ay &

A
Jq9

3
1,50,000
2,00,000

5,000

1,00,000
2,40,000

1,80,000
6,000

AMAY 1 T WA A TR | 50,000 ° T8 A SN SRR
WA D I € 1,00,000 7 &0t 7€ 1 A 1 AW 9T T 3,00,000

A o= T

FRER BRI T8 <0 ARA § gAew Rt AW € 20,000 3R e F T 10,000 W@
=1 folg T | sifeam 1 90 o1 YA oRa 57 A9 o faarer @ e

3Tqdr

TR, A, SR S T A § WEER ¥ 1 31 A, 2013 IR ot T e wem

aq.

aTfed 3 | nRaai 4

X @t gl 1,60,000 | wwuferan 4,00,000

Y & oo 1,00,000 | = 4,00,000

X &1 Loan 2,00,000 | feead 1,60,000

W A (FER) 10,00,000 | w&far 1,60,000
T W 2,00,000

B E| 10,000

VA | 1,30,000

14,60,000 14,60,000
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TR S wE i Rl @ R e aR @ R ok s aser @ Raf
A e R T | Ry SR fee SR g

T R (IFR) 45% &, T T 160,000, wWhiar T 1,00,000, 7699 T 2,00,000
T fheaad 40,000 | THEH =51 T 10,000 ¥ | AR @ Fol Ry fee weow
¢

Aot awafaat et el

4 z
LEL 2,50,000 2,50,000
g 1,80,000 2,00,000
S 2,50,000 2,30,000

@ fhaEl @ 9T = @ T srawes ook |n s o

(2000)
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